

MEMO

To: Governor Mike DeWine

Sen. Kirk Schuring, Chair, Ohio Retirement Study Council Rep. Tim Ginter, Chair, Aging and Long-Term Care Committee

Sen. Bill Coley, Chair, Senate State Government Oversight and Reform Committee Ms. Bethany Rhodes, Director and General Counsel, Ohio Retirement Study Council

From: Karen Carraher, Executive Director

Ohio Public Employees Retirement System

Date: March 1, 2020

Re: 2018 – 2019 Disability Report under ORC Section 145.351

The following is a summary of the 2018-2019 Ohio Public Employees Retirement System Disability Activity Report as required by Section 145.351 of the Ohio Revised Code. Attached is a detailed disability experience report for each employer.

Disability Summary Year 2019

Employer Group/ Classification Type	Year Start (In Process)	Submitted	Granted	Denied	Canceled	Year End (In Process)	Percent of Disability Recipients to Active Members				
STATE	127	221	174	3	98	73	7.27%				
LOCAL	272	419	338	12	217	124	5.49%				
LAW/Public Safety	32	41	38	1 14		1 14		1 14		20	19.57%
Total	431	681	550	16	329	217	6.47%				

Experience Versus Annual Actuarial Assumption

Employer Group/ Classification Type	2019 Percent Granted to Active Members (actual %)	2019 Granted to Active Members (actual #)	Most Recent Annual Actuarial Disability Assumption (as %/#)
STATE	0.18%	174	0.32% (385)
LOCAL	0.17%	338	0.30% (597)
LAW/Public Safety	0.46%	38	0.81% (66)
Total	0.18%	550	0.32% (1,048)



5-Year Summary of Percent Granted to Active Members (%/actual #)

Employer G Classifica		*20	015	*2016		*2017		*2018		2019		5-Year Average	
		%	actual #	% actual #		%	actual #						
*NON-LAW	State	0.13%	442	0.14%	468	0.12%	403	0.11%	334	0.18%	174	0.13%	2,159
	Local									0.17%	338		·
LAW/Public Sa	afety	0.00%	11	0.01%	27	0.01%	31	0.01%	31	0.46%	38	0.01%	138
Total		0.13%	453	0.14%	495	0.12%	434	0.12%	365	0.18%	550	0.14%	2,297

^{*}NON-LAW is comprised of both State and Local data for years 2015-2018 and will be split 2019 and forward.

Common Disabilities

Condition (recipient may have multiple conditions)	2015	2016	2017	2018	2019	5 Year Total	Percent
Musculoskeletal	295 (28%)	245 (25%)	269 (31%)	266 (28%)	237 (28%)	1312	28%
Psychiatric	169 (16%)	187 (19%)	128 (15%)	148 (16%)	114 (14%)	746	16%
Neurological	127 (12%)	90 (9%)	91 (10%)	91 (10%)	92 (11%)	491	10%
Cardiovascular	125 (12%)	91 (10%)	81 (9%)	94 (10%)	104 (12%)	495	11%
Oncologic	108 (11%)	107 (11%)	88 (10%)	80 (8%)	86 (10%)	469	10%
Other*	219 (21%)	255 (26%)	216 (25%)	264 (28%)	214 (25%)	1,168	25%
Total	1043	975	873	943	847	4681	100%

^{*} Other includes pulmonary, gastrointestinal, eye, ear, nose, and throat, endocrine, renal, hematologic, infectious disease, and sleep disorders.

SUMMARY



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Pending	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
STATE	OHIO HISTORY CONNECTION	209	1	1	0	0	0	6	0.48%	2.87%
STATE	ENVIRONMENTAL PROTECTION AGENCY	1,025	1	0	0	1	0	41	0.00%	4.00%
STATE	HEALTH DEPT	1,107	3	1	0	0	2	77	0.09%	6.96%
STATE	INSURANCE DEPT	263	1	1	0	0	0	12	0.38%	4.56%
STATE	NATURAL RESOURCES ADMINISTRATION	1,751	7	3	1	0	3	135	0.17%	7.71%
STATE	EXPOSITIONS COMMISSION	72	1	1	0	0	0	5	1.39%	6.94%
STATE	CASINO CONTROL COMMISSION	70	2	0	0	0	2	0	0.00%	0.00%
STATE	DEPT OF ADMINISTRATIVE SERVICES	838	1	1	0	0	0	87	0.12%	10.38%
STATE	DEPT OF TAXATION	840	3	0	0	2	1	68	0.00%	8.10%
STATE	YOUNGSTOWN DEVELOPMENT CENTER	0	1	0	0	0	1	0	0.00%	0.00%
STATE	OHIO LOTTERY COMMISSION	368	1	0	0	0	1	8	0.00%	2.17%
STATE	COMMERCE DEPT	932	4	2	1	1	0	95	0.21%	10.19%
STATE	JOB AND FAMILY SERVICES	2,147	7	2	0	2	3	307	0.09%	14.30%
STATE	REHABILITATION AND CORRECTION	530	2	0	0	1	1	88	0.00%	16.60%
STATE	YOUTH SERVICES-CENTRAL OFFICE	188	2	2	0	0	0	47	1.06%	25.00%
STATE	CUYAHOGA HILLS BOYS SCHOOL	246	1	0	0	0	1	24	0.00%	9.76%
STATE	PAROLE AND COMMUNITY SERVICES	776	5	5	0	0	0	92	0.64%	11.86%
STATE	MENTAL HEALTH SUPPORT SERVICES	531	2	2	0	0	0	39	0.38%	7.34%
STATE	CORRECTIONS MEDICAL CENTER	525	2	1	0	0	1	57	0.19%	10.86%
STATE	SUMMIT BEHAVIORAL HEALTH CARE	401	1	0	0	1	0	44	0.00%	10.97%
STATE	HEARTLAND BEHAVIORAL HEALTHCARE	236	3	1	0	0	2	24	0.42%	10.17%
STATE	TWIN VALLEY PSYCHIATRIC SYSTEM	496	1	1	0	0	0	142	0.20%	28.63%
STATE	NORTHCOAST BEHAVIORAL HEALTHCARE SYS	492	2	0	0	2	0	141	0.00%	28.66%
STATE	TIFFIN DEVELOPMENTAL CENTER	244	1	1	0	0	0	31	0.41%	12.70%
STATE	COLUMBUS DEVELOPMENTAL CENTER	287	2	1	0	1	0	63	0.35%	21.95%
STATE	GALLIPOLIS DEVELOPMENTAL CENTER	178	2	1	0	1	0	85	0.56%	47.75%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Pending	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
STATE	DEPARTMENT OF VETERANS SERVICES	812	3	0	0	1	2	45	0.00%	5.54%
STATE	MOUNT VERNON DEVELOPMENTAL CENTER	222	1	1	0	0	0	58	0.45%	26.13%
STATE	CAMBRIDGE DEVELOPMENTAL CENTER	209	2	1	0	1	0	57	0.48%	27.27%
STATE	SOUTHEASTERN CORRECTIONAL INSTITUTION	341	3	0	0	2	1	103	0.00%	30.21%
STATE	LEBANON CORRECTIONAL INSTITUTE	487	4	3	0	0	1	85	0.62%	17.45%
STATE	LONDON CORRECTIONAL INSTITUTE	334	2	2	0	0	0	51	0.60%	15.27%
STATE	OHIO WOMEN'S REFORMATORY	457	2	1	0	0	1	56	0.22%	12.25%
STATE	MARION CORRECTIONAL INSTITUTE	421	3	1	0	2	0	46	0.24%	10.93%
STATE	TRUMBULL CORRECTIONAL INSTITUTION	345	3	1	0	1	1	51	0.29%	14.78%
STATE	CHILLICOTHE CORRECTIONAL INSTITUTE	541	5	3	0	0	2	167	0.55%	30.87%
STATE	WARRENSVILLE DEVELOPMENTAL CENTER	331	1	1	0	0	0	73	0.30%	22.05%
STATE	DEPT OF TRANSPORTATION	5,294	16	9	0	3	4	695	0.17%	13.13%
STATE	PUBLIC SAFETY ADMINISTRATION	2,145	8	6	0	1	1	168	0.28%	7.83%
STATE	NORTHWEST OHIO PSYCHIATRIC HOSPITAL	218	1	1	0	0	0	1	0.46%	0.46%
STATE	OPPORTUNITIES FOR OHIOANS WITH DISABIL	1,136	2	1	0	1	0	139	0.09%	12.24%
STATE	OHIO BLIND SCHOOL	74	1	0	0	0	1	11	0.00%	14.86%
STATE	UNIVERSITY OF CINCINNATI	4,301	2	1	0	1	0	152	0.02%	3.53%
STATE	KENT STATE UNIVERSITY	3,006	7	5	0	2	0	117	0.17%	3.89%
STATE	MIAMI UNIVERSITY	2,741	4	2	0	1	1	144	0.07%	5.25%
STATE	OHIO UNIVERSITY	3,880	10	3	0	4	3	187	0.08%	4.82%
STATE	NORTHEAST OHIO MEDICAL UNIVERSITY	0	1	0	0	0	1	0	0.00%	0.00%
STATE	OHIO STATE UNIVERSITY	25,740	40	15	0	15	10	657	0.06%	2.55%
STATE	CENTRAL OHIO TECHNICAL COLLEGE	114	2	0	0	2	0	4	0.00%	3.51%
STATE	UNIVERSITY OF TOLEDO	4,032	7	3	0	3	1	187	0.07%	4.64%
STATE	EDISON STATE COLLEGE	114	2	1	0	0	1	4	0.88%	3.51%
STATE	SHAWNEE STATE UNIVERSITY	0	1	0	0	0	1	0	0.00%	0.00%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Pending	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
STATE	WORKER'S COMPENSATION BUREAU	1,759	6	1	0	1	4	164	0.06%	9.32%
STATE	PICKAWAY CORRECTIONAL INSTITUTE	443	3	3	0	0	0	87	0.68%	19.64%
STATE	NORTHEAST REINTEGRATION CENTER	154	1	0	0	1	0	14	0.00%	9.09%
STATE	CORRECTIONAL RECEPTION CENTER	515	3	2	0	0	1	80	0.39%	15.53%
STATE	CIRCLEVILLE JUVENILE CORRECTIONAL	233	1	1	0	0	0	51	0.43%	21.89%
STATE	LORAIN CORRECTIONAL INSTITUTION	403	2	2	0	0	0	29	0.50%	7.20%
STATE	ROSS CORRECTIONAL INSTITUTION	487	5	3	0	2	0	112	0.62%	23.00%
STATE	BELMONT CO CORRECTIONAL INSTITUTION	437	1	0	0	1	0	30	0.00%	6.86%
STATE	OHIO STATE PENITENTIARY	325	4	3	0	0	1	61	0.92%	18.77%
STATE	RICHLAND CORRECTIONAL INSTITUTION	385	1	0	0	0	1	19	0.00%	4.94%
STATE	STARK STATE COLLEGE	302	1	0	0	0	1	2	0.00%	0.66%
STATE	OHIO TURNPIKE AND INFRASTRUCTURE COMM	671	1	1	0	0	0	55	0.15%	8.20%
LOCAL	ADAMS COUNTY HOSPITAL	0	2	1	0	1	0	0	0.00%	0.00%
LOCAL	ALLEN COUNTY	0	1	1	0	0	0	0	0.00%	0.00%
LOCAL	ASHLAND COUNTY	330	2	0	0	1	1	6	0.00%	1.82%
LOCAL	ASHTABULA COUNTY	759	1	0	0	0	1	40	0.00%	5.27%
LOCAL	BROWN COUNTY	246	2	1	0	1	0	13	0.41%	5.28%
LOCAL	BUTLER COUNTY	1841	6	5	0	0	1	112	0.27%	6.08%
LOCAL	CARROLL COUNTY	366	1	1	0	0	0	13	0.27%	3.55%
LOCAL	CLARK COUNTY	936	5	1	1	1	2	83	0.11%	8.87%
LOCAL	CLERMONT COUNTY	1206	4	1	0	1	2	96	0.08%	7.96%
LOCAL	COSHOCTON COUNTY	400	1	0	0	1	0	9	0.00%	2.25%
LOCAL	DELAWARE COUNTY	1121	4	2	0	1	1	28	0.18%	2.50%
LOCAL	FAYETTE COUNTY MEMORIAL HOSPITAL	380	1	1	0	0	0	13	0.26%	3.42%
LOCAL	FRANKLIN COUNTY	5886	14	6	1	2	5	311	0.10%	5.28%
LOCAL	GALLIA COUNTY	331	1	0	0	1	0	21	0.00%	6.34%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Pending	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	GREENE COUNTY	1017	1	1	0	0	0	49	0.10%	4.82%
LOCAL	HIGHLAND COUNTY	292	1	1	0	0	0	12	0.34%	4.11%
LOCAL	HOCKING COUNTY	278	1	1	0	0	0	13	0.36%	4.68%
LOCAL	HOCKING VALLEY COMMUNITY HOSPITAL	333	1	0	0	1	0	17	0.00%	5.11%
LOCAL	HURON COUNTY	416	3	2	0	1	0	12	0.48%	2.88%
LOCAL	JACKSON COUNTY	295	1	0	0	0	1	16	0.00%	5.42%
LOCAL	JEFFERSON COUNTY	600	1	1	0	0	0	44	0.17%	7.33%
LOCAL	LICKING COUNTY	963	3	3	0	0	0	47	0.31%	4.88%
LOCAL	LORAIN COUNTY	1890	2	2	0	0	0	83	0.11%	4.39%
LOCAL	LORAIN COUNTY COMMUNITY COLLEGE	688	1	1	0	0	0	9	0.15%	1.31%
LOCAL	LUCAS COUNTY	2797	3	3	0	0	0	222	0.11%	7.94%
LOCAL	MADISON COUNTY	0	1	0	0	1	0	222	0.00%	0.00%
LOCAL	MAHONING COUNTY	1374	4	3	0	0	1	113	0.22%	8.22%
LOCAL	MEDINA COUNTY	1076	1	0	0	0	1	44	0.00%	4.09%
LOCAL	MEIGS COUNTY	231	1	1	0	0	0	20	0.43%	8.66%
LOCAL	MERCER COUNTY	282	1	0	0	1	0	12	0.00%	4.26%
LOCAL	MIAMI COUNTY	725	4	1	0	1	2	30	0.14%	4.14%
LOCAL	MONROE COUNTY	283	1	1	0	0	0	7	0.35%	2.47%
LOCAL	MONTGOMERY COUNTY	3927	19	9	0	8	2	452	0.23%	11.51%
LOCAL	SINCLAIR COMMUNITY COLLEGE	974	2	0	0	1	1	12	0.00%	1.23%
LOCAL	MORROW COUNTY	0	1	0	0	1	0	0	0.00%	0.00%
LOCAL	MUSKINGUM COUNTY	779	1	0	0	0	1	38	0.00%	4.88%
LOCAL	OTTAWA COUNTY	509	4	1	0	1	2	33	0.20%	6.48%
LOCAL	BERGER HOSPITAL	0	2	0	0	2	0	0	0.00%	0.00%
LOCAL	PORTAGE COUNTY	929	1	0	0	0	1	64	0.00%	6.89%
LOCAL	ROBINSON MEMORIAL HOSPITAL	0	1	0	0	1	0	0	0.00%	0.00%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Pending	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	PUTNAM COUNTY	0	1	0	0	1	0	0	0.00%	0.00%
LOCAL	RICHLAND COUNTY	977	3	2	0	0	1	50	0.20%	5.12%
LOCAL	ROSS COUNTY	621	2	1	0	0	1	52	0.16%	8.37%
LOCAL	SENECA COUNTY	518	1	0	0	0	1	24	0.00%	4.63%
LOCAL	STARK COUNTY	2679	4	4	0	0	0	119	0.15%	4.44%
LOCAL	SUMMIT COUNTY	2900	6	2	0	2	2	251	0.07%	8.66%
LOCAL	TRUMBULL COUNTY	1368	5	3	0	1	1	86	0.22%	6.29%
LOCAL	TUSCARAWAS COUNTY	560	1	1	0	0	0	35	0.18%	6.25%
LOCAL	VAN WERT COUNTY	239	2	0	1	1	0	8	0.00%	3.35%
LOCAL	WASHINGTON COUNTY	489	2	1	0	1	0	26	0.20%	5.32%
LOCAL	WAYNE COUNTY	688	1	0	0	1	0	31	0.00%	4.51%
LOCAL	WOOD COUNTY	982	2	1	0	1	0	37	0.10%	3.77%
LOCAL	WYANDOT COUNTY	0	1	1	0	0	0	0	0.00%	0.00%
LOCAL	CUYAHOGA COUNTY	7562	41	14	1	15	11	516	0.19%	6.82%
LOCAL	METROHEALTH MEDICAL CENTER	7567	14	9	0	2	3	235	0.12%	3.11%
LOCAL	CUYAHOGA COUNTY COMMUNITY COLLEGE	1544	1	0	0	0	1	31	0.00%	2.01%
LOCAL	HAMILTON COUNTY	3895	5	3	0	0	2	278	0.08%	7.14%
LOCAL	CITY OF ALLIANCE	205	1	1	0	0	0	11	0.49%	5.37%
LOCAL	CITY OF ATHENS	201	1	1	0	0	0	8	0.50%	3.98%
LOCAL	CITY OF BEDFORD	158	1	0	0	0	1	8	0.00%	5.06%
LOCAL	CITY OF BOWLING GREEN	201	2	1	0	1	0	10	0.50%	4.98%
LOCAL	CITY OF BROADVIEW HEIGHTS	208	1	0	0	0	1	1	0.00%	0.48%
LOCAL	CITY OF CANTON	691	3	0	0	1	2	44	0.00%	6.37%
LOCAL	CITY OF CHILLICOTHE	186	2	0	1	1	0	7	0.00%	3.76%
LOCAL	CITY OF COLUMBUS	5656	27	12	0	6	9	473	0.21%	8.36%
LOCAL	CITY OF CONNEAUT	110	1	0	0	1	0	5	0.00%	4.55%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Pending	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	CITY OF CUYAHOGA FALLS	567	1	1	0	0	0	28	0.18%	4.94%
LOCAL	CITY OF DAYTON	0	1	1	0	0	0	0	0.00%	0.00%
LOCAL	CITY OF DOVER	138	1	1	0	0	0	6	0.72%	4.35%
LOCAL	CITY OF EUCLID	244	2	1	0	0	1	24	0.41%	9.84%
LOCAL	CITY OF GREEN	107	1	1	0	0	0	3	0.93%	2.80%
LOCAL	CITY OF GROVE CITY	219	2	1	0	0	1	5	0.46%	2.28%
LOCAL	CITY OF HAMILTON	448	2	1	0	1	0	49	0.22%	10.94%
LOCAL	CITY OF HEATH	55	1	0	0	1	0	1	0.00%	1.82%
LOCAL	CITY OF KENTON	52	1	0	0	0	1	1	0.00%	1.92%
LOCAL	CITY OF LANCASTER	300	1	1	0	0	0	16	0.33%	5.33%
LOCAL	CITY OF LORAIN	316	4	2	0	2	0	31	0.63%	9.81%
LOCAL	CITY OF MASON	234	1	1	0	0	0	3	0.43%	1.28%
LOCAL	CITY OF MANSFIELD	265	2	1	0	0	1	16	0.38%	6.04%
LOCAL	CITY OF MIAMISBURG	142	1	1	0	0	0	10	0.70%	7.04%
LOCAL	CITY OF MENTOR	404	2	2	0	0	0	23	0.50%	5.69%
LOCAL	CITY OF MINGO JUNCTION	33	1	0	0	0	1	4	0.00%	12.12%
LOCAL	CITY OF NILES	136	1	1	0	0	0	13	0.74%	9.56%
LOCAL	CITY OF NORTH OLMSTED	358	1	0	0	0	1	17	0.00%	4.75%
LOCAL	CITY OF OBERLIN	124	1	1	0	0	0	5	0.81%	4.03%
LOCAL	CITY OF PARMA	483	1	1	0	0	0	19	0.21%	3.93%
LOCAL	CITY OF PORTSMOUTH	177	6	1	0	3	2	33	0.56%	18.64%
LOCAL	CITY OF SHAKER HEIGHTS	292	1	0	1	0	0	21	0.00%	7.19%
LOCAL	CITY OF SIDNEY	146	1	0	0	1	0	8	0.00%	5.48%
LOCAL	CITY OF SPRINGFIELD	345	4	2	1	0	1	30	0.58%	8.70%
LOCAL	CITY OF STEUBENVILLE	119	3	1	0	2	0	20	0.84%	16.81%
LOCAL	CITY OF SOLON	477	1	1	0	0	0	8	0.21%	1.68%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Pending	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	CITY OF SYLVANIA	96	1	1	0	0	0	2	1.04%	2.08%
LOCAL	CITY OF TROTWOOD	45	1	1	0	0	0	4	2.22%	8.89%
LOCAL	CITY OF URBANA	79	1	1	0	0	0	4	1.27%	5.06%
LOCAL	CITY OF VAN WERT	78	3	0	0	3	0	4	0.00%	5.13%
LOCAL	CITY OF VANDALIA	292	1	1	0	0	0	6	0.34%	2.05%
LOCAL	WOOSTER HOSPITAL	1039	1	1	0	0	0	25	0.10%	2.41%
LOCAL	CITY OF WADSWORTH	216	2	2	0	0	0	20	0.93%	9.26%
LOCAL	CITY OF WARREN	269	1	1	0	0	0	44	0.37%	16.36%
LOCAL	CITY OF WILMINGTON	166	2	1	0	1	0	7	0.60%	4.22%
LOCAL	CITY OF WILLARD	46	1	1	0	0	0	6	2.17%	13.04%
LOCAL	CITY OF YOUNGSTOWN	492	1	0	0	0	1	44	0.00%	8.94%
LOCAL	CITY OF CLEVELAND	5516	21	9	1	6	5	545	0.16%	9.88%
LOCAL	GREATER CLEVELAND REGIONAL TRANSIT	1904	15	7	0	4	4	360	0.37%	18.91%
LOCAL	CITY OF TOLEDO	1526	7	5	0	0	2	165	0.33%	10.81%
LOCAL	AKRON METROPOLITAN HOUSING AUTHORITY	375	2	1	0	0	1	13	0.27%	3.47%
LOCAL	CINCINNATI METROPOLITAN HOUSING AUTH	199	1	0	0	1	0	26	0.00%	13.07%
LOCAL	CUYAHOGA METROPOLITAN HOUSING AUTH	751	2	0	0	1	1	96	0.00%	12.78%
LOCAL	PORTSMOUTH METROPOLITAN HOUSING AUTH	43	1	0	0	0	1	4	0.00%	9.30%
LOCAL	VINTON METROPOLITAN HOUSING AUTHORITY	2	1	1	0	0	0	1	50.00%	50.00%
LOCAL	VILLAGE OF AMELIA	1	1	0	0	0	1	0	0.00%	0.00%
LOCAL	VILLAGE OF ARCANUM	28	1	0	0	1	0	1	0.00%	3.57%
LOCAL	VILLAGE OF CADIZ	22	1	0	0	0	1	0	0.00%	0.00%
LOCAL	CITY OF DUBLIN	586	1	0	0	0	1	6	0.00%	1.02%
LOCAL	VILLAGE OF ELMORE	17	1	0	0	0	1	0	0.00%	0.00%
LOCAL	VILLAGE OF FAIRPORT HARBOR	23	1	0	0	0	1	1	0.00%	4.35%
LOCAL	VILLAGE OF GRATIS	41	1	1	0	0	0	0	2.44%	0.00%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Pending	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	VILLAGE OF LITHOPOLIS	9	1	0	0	1	0	0	0.00%	0.00%
LOCAL	VILLAGE OF LOWELLVILLE	26	1	0	0	1	0	0	0.00%	0.00%
LOCAL	VILLAGE OF NEW MIAMI	16	1	0	1	0	0	0	0.00%	0.00%
LOCAL	VILLAGE OF NEW RICHMOND	13	1	0	0	0	1	3	0.00%	23.08%
LOCAL	VILLAGE OF NORTH BALTIMORE	55	1	0	0	1	0	0	0.00%	0.00%
LOCAL	CITY OF NORTHWOOD	32	1	0	0	1	0	6	0.00%	18.75%
LOCAL	VILLAGE OF OAKWOODCUYAHOGA CO	49	1	0	0	1	0	0	0.00%	0.00%
LOCAL	VILLAGE OF SEBRING	40	1	0	0	0	1	4	0.00%	10.00%
LOCAL	VILLAGE OF WEST MILTON	15	1	1	0	0	0	2	6.67%	13.33%
LOCAL	VILLAGE OF YELLOW SPRINGS	46	2	0	0	0	2	2	0.00%	4.35%
LOCAL	AKRON SUMMIT CO PUBLIC LIBRARY	454	1	1	0	0	0	11	0.22%	2.42%
LOCAL	ASHTABULA COUNTY PUBLIC LIBRARY	32	1	0	0	1	0	0	0.00%	0.00%
LOCAL	BARBERTON PUBLIC LIBRARY	26	1	0	0	0	1	0	0.00%	0.00%
LOCAL	SELOVER PUBLIC LIBRARY	10	1	0	0	1	0	0	0.00%	0.00%
LOCAL	CLEVELAND PUBLIC LIBRARY	654	1	0	1	0	0	20	0.00%	3.06%
LOCAL	COLUMBUS METROPOLITAN LIBRARY	844	1	0	0	1	0	18	0.00%	2.13%
LOCAL	DAYTON METRO LIBRARY	459	1	1	0	0	0	13	0.22%	2.83%
LOCAL	SOUTHWEST PUBLIC LIBRARY	85	1	1	0	0	0	4	1.18%	4.71%
LOCAL	MANSFIELD/RICHLAND CO PUBLIC LIBRARY	148	1	1	0	0	0	4	0.68%	2.70%
LOCAL	MASSILLON PUBLIC LIBRARY	70	1	0	0	1	0	1	0.00%	1.43%
LOCAL	NAPOLEON PUBLIC LIBRARY	16	1	0	1	0	0	0	0.00%	0.00%
LOCAL	PICKERINGTON PUBLIC LIBRARY	0	1	0	0	1	0	0	0.00%	0.00%
LOCAL	PREBLE COUNTY DISTRICT LIBRARY	0	1	0	0	0	1	0	0.00%	0.00%
LOCAL	UPPER SANDUSKY PUBLIC LIBRARY	12	1	0	0	0	1	0	0.00%	0.00%
LOCAL	WILLOUGHBY EASTLAKE PUBLIC LIBRARY	98	1	0	0	0	1	2	0.00%	2.04%
LOCAL	LAKETRAN	201	1	0	0	1	0	3	0.00%	1.49%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Pending	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	SOUTHWEST OHIO REGIONAL TRANSIT AUTH	869	2	2	0	0	0	200	0.23%	23.01%
LOCAL	GREATER DAYTON REGIONAL TRANSIT AUTH	617	4	2	0	0	2	140	0.32%	22.69%
LOCAL	UHRICHSVILLE UNION CEMETERY	9	1	0	0	1	0	0	0.00%	0.00%
LOCAL	HIGHLAND DISTRICT HOSPITAL	374	1	0	0	0	1	20	0.00%	5.35%
LOCAL	TOLEDO AREA REGIONAL TRANSIT AUTHORITY	292	2	0	0	1	1	46	0.00%	15.75%
LOCAL	STATE TEACHERS RETIREMENT SYSTEM	521	2	2	0	0	0	14	0.38%	2.69%
LOCAL	SCHOOL EMPLOYEES RETIREMENT SYSTEM	171	2	2	0	0	0	5	1.17%	2.92%
LOCAL	CORRECTIONS COMMISSION OF NORTHWEST OH	167	1	1	0	0	0	5	0.60%	2.99%
LOCAL	COLUMBUS REGIONAL AIRPORT AUTHORITY	360	2	1	0	0	1	21	0.28%	5.83%
LOCAL	NORTHEAST OHIO REGIONAL SEWER DISTRICT	783	1	0	0	1	0	61	0.00%	7.79%
LOCAL	CENTRAL OHIO TRANSIT AUTHORITY	1137	8	5	0	3	0	117	0.44%	10.29%
LOCAL	METRO REGIONAL TRANSIT AUTHORITY	409	3	1	0	2	0	83	0.24%	20.29%
LOCAL	YORKTWP	11	1	1	0	0	0	1	9.09%	9.09%
LOCAL	COLERAIN TWP	6	1	0	0	0	1	0	0.00%	0.00%
LOCAL	PEASETWP	5	1	0	0	1	0	0	0.00%	0.00%
LOCAL	WHEELING TWP	5	1	0	0	0	1	0	0.00%	0.00%
LOCAL	PIKETWP	5	1	1	0	0	0	1	20.00%	20.00%
LOCAL	SYLVANIA TWP	47	1	1	0	0	0	2	2.13%	4.26%
LOCAL	WASHINGTONTWP	164	1	1	0	0	0	5	0.61%	3.05%
LOCAL	NIMISHILLENTWP	24	1	1	0	0	0	0	4.17%	0.00%
LOCAL	HAMILTON TWP	17	1	0	0	0	1	0	0.00%	0.00%
LAW	PUBLIC SAFETY ADMINISTRATION	123	2	1	0	0	1	13	0.81%	10.57%
LAW	ASHLAND COUNTY	35	1	0	1	0	0	3	0.00%	8.57%
LAW	CLARK COUNTY	129	3	3	0	0	0	48	2.33%	37.21%
LAW	DELAWARE COUNTY	108	1	0	0	0	1	11	0.00%	10.19%
LAW	FAYETTE COUNTY	22	1	1	0	0	0	5	4.55%	22.73%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Pending	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LAW	FRANKLIN COUNTY	613	2	1	0	0	1	130	0.16%	21.21%
LAW	GALLIA COUNTY	30	1	0	0	0	1	9	0.00%	30.00%
LAW	GEAUGA COUNTY	58	2	1	0	0	1	9	1.72%	15.52%
LAW	HURON COUNTY	22	1	1	0	0	0	1	4.55%	4.55%
LAW	LAKE COUNTY	51	1	0	0	0	1	6	0.00%	11.76%
LAW	LICKING COUNTY	95	3	0	0	0	3	26	0.00%	27.37%
LAW	LORAIN COUNTY	64	1	1	0	0	0	9	1.56%	14.06%
LAW	LUCAS COUNTY	252	2	0	0	1	1	41	0.00%	16.27%
LAW	MAHONING COUNTY	211	4	2	0	2	0	84	0.95%	39.81%
LAW	MONTGOMERY COUNTY	207	5	1	0	1	3	123	0.48%	59.42%
LAW	MUSKINGUM COUNTY	74	1	0	0	0	1	13	0.00%	17.57%
LAW	RICHLAND COUNTY	39	1	1	0	0	0	6	2.56%	15.38%
LAW	WOOD COUNTY	63	1	0	0	1	0	15	0.00%	23.81%
LAW	FAIRFIELD TWP	17	1	1	0	0	0	4	5.88%	23.53%
LAW	WEST CHESTER TWP	81	2	0	0	0	2	12	0.00%	14.81%
LAW	FRANKLINTWP	0	2	0	0	1	1	0	0.00%	0.00%
LAW	AUSTINTOWN TWP	38	1	1	0	0	0	8	2.63%	21.05%
LAW	BUTLERTWP	15	1	1	0	0	0	10	6.67%	66.67%
LAW	JACKSON TWP	45	1	1	0	0	0	11	2.22%	24.44%